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8,780,570 7,671,687 1,108,883

8,654,370 7,546,487 1,107,883

7,800,690 6,600,097 1,200,593

4,296,398 3,622,326 7740721 O 2=
TEH| 670& X 469,107m X 128 = 3,771,620
2CHA| 1,000& X 17,993m" X 128 = 215,916
Sl= | 1,450& X 9,966m X 128 = 173,408

O F#3dg A=
15mm 600& X 16,4328 X 128 = 118,310
20mm 800% X 265& X 128 = 2,544
25mm 1,000& X 2848 X 128 = 3,408
32mm 1,300& X 708 X 128 = 1,092
40mm 1,600& X 328 X 128 = 614
50mm 3,300& X 258 X 128 = 990
75mm 14,000& X 158 X 128 = 2,520
100mm 17,000& X 188 X 128 = 2,652
150mm 30,000& X 8& X 128 = 2,880
200mm 37,000& X 1&8 X 128 = 444
61
& 3,480,744 3,057,949 422,795 O ===+




(600) A %=1 8 (610) 2 =2 Mg (BI85 22 (ol &)
i} =
= Ol Ato |MEZ At HnES2 & &5 I =
= 1,1902 X 95,723m X 12”2 = 1,366,924
2CH | 1,43094 X 18,762m X 128 = 321,955
SEHH| 1,740 X 20,063m X 128 = 418,915
4CH| 2,12094 X 19,632m X 128 = 499,438
5EH| 2,600 X 26,378m X 128 = 822,993
O 7Y U=
15mm 600! X 4,388 X 128 = 31,593
20mm 800® X 523 X 12”0 = 5,020
25mm 1,0008 X 342& X 128€ = 4,104
32mm 1,3009 X 478 X 128€ = 733
40mm 1,6002 X 108& X 128 = 2,073
50mm 3,300 X 50& X 12&” = 1,980
75mm 14,0008 X 19& X 128 = 3,192
100mm 17,0009 X 5& X 12’ = 1,020
150mm 30,0008 X 1& X 12”0 = 360
200mm 37,0008 X 1& X 128 = 444
611-04
NES=g= 23,548 19,822 3726| O SH42
=y 9502 X 955m X 12@ = 10,887
25| 1,190” X 501m X 12&€ = 7,154
cl=p:] 1,4509 X 298m X 12& = 5,185
O 2dg U=
25mm 1,0008 X 1& X 128 = 12




(600) AFd 2=2! 2 Hist: (611)AlE 242 el i M)
In’ =
Ol kO [ & & Of &FOH = =
HIg =2
40mm 1,6002 X 10&™ X 12"’ = 192
50mm 3,300 X 3™ X 12&€ = 118
612
2.2 A
612-01
Al T Ab2Q O NAZLZA Foige2
15mm 800,0002 X 5008 = 400,000
20mm 1,000,0002 X 50 = 50,000
25mm 1,500,0002 X 50& = 75,000
32mm 2,000,0002 X 40& = 80,000
40mm 2,500,0002 X 20™ = 50,000
50mm 3,500,000& X 10& = 35,000
75mm 10,000,000 X 5& = 50,000
100mm 20,000,000€ X 2™ = 40,000
150mm 30,000,000 X 1& = 30,000
661
JIEtE 40!
661-03
JIEtE2 22 AEZETA 22240
A L2 25,0002 X 678& = 16,950
ANZAAK 222 15,0002 X 678& = 10,170
ZDAANELEE 20,0002 X 678™ = 13,560




(600) Al &4 =21 & =2 NIt (661)JEHE & el )
ot =
- Glakol (HEC0 At BlusSZ £ =
Mgt <
661-09
JIEr &1 4ol 3,000 3,000 0[O S+ (HAET 1,000,0002! X 33 3,000
670
22142 126,200 125,200 1,000
671
01 XF42 20,000 28,000 8,000
671-01
0l 201 Xt <! 20,000 28,000 A8000|O 2202 01X
600,000,0002! X 1% 6,000
1,000,000,0008 X 1.4% = 14,000
672
Elsl Ay 24 91,200 82,200 9,000
672-01
UBrs| I E Y2 25,200 25,200 0|0 2HgA 25,200,000 25,200
672-02
EBISE23Hde= 66,000 57,000 9,000 otr=ESE3
SIETAIRE AT 242 2,200,000,0008 X 3% = 66,000
679
DIt gle 4ol 15,000 15,000 0
679-03
SE20H2+2 3,000 3,000 0 1,0002 X 3,000 3,000




2+ (600) AF & =2 g1 (670)H 2l =2 Al (679) 01 EE & 2

20 (9 &=
ni: =
Ol abOH M E O A HDS2t & = J] =
B8 B =
679-09
JIEtE H Q=2 12,000 12,000 010 STHEI WA 30,000 X 40008 = 12,000
Ol ARl HI A 370,630 411,813 AN41,183
WEHEHA 370,630 411,813 AN41,183
HEE0|8 2 314,630 356,813 N42183
= HIH 02 314,630 356,813 | £42183| O =HHL K2 314,630,002 = 314630
NEE0I=2 56,000 55,000 1,000
HECHAD =2 56,000 55,000 11,0000 O MES AT AISE O3 56,000, 000& = 56,000




